Honors Algebra 2 — Chapter 1 Day #10

Homework Factoring with Grouping or Substitution
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Factor the following:
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21. If r = 4, p = -1, andg = 2, evaluate (rp)z 4 +23.
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22. Each day, Andy’s Ice Cream Shop sells twice as many double-scoop ice cream cones, at $2.50 a cone, as

single-scoop ice cream cones, at $1.50 a cone. If Andy’s Ice Cream Shop sells 300 double-scoop cones on
Monday, how much money did customers spend on single-scoop and double-scoop cones?
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23. If a 12-foot pole casts a 4.8-foot shadow, how tall is a pole that casts an 8-foot shadow?
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24, Simplify the following radicals
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